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I AR (POLYNOMIALS)
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G 7(x) = 0 A r(x) @@ 3t < g(x) -9
w535 : (1) I r(x) = 0 27, 9@ g(x) T8 p(x) 97 936 TAWT |




(1) Siey = oleF X ClaFel+ ST |

TP - 2
F-fqeiet (afsl 1 T99)

AR 27 FCAl -

1.

x? = 3x + 2 fadro ARRIETR =TT (@i 25 ———

2. ax® + bx? + cx + d faare e 9t =7 7 0 2%, O wor %t 7 ———
A e emetEs #is Rem @ s
3. =3 @R 2 #w RS fagre At e 21 —
(@) ¥*-x+6 (b)) x*+x-6 (¢c) x>-x—-6 () x*>*+x+6
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(PAIR OF LINEAR EQUATIONS IN TWO VARIABLES)
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10.
11.
12.

13.
14.

II.

Ix+3y+12 = 0 @R 18x+6y+24 = ( @RT ANSIE 27— |
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ax+by+c=0aRax+by+c, = 0 RS AR ATI ANGNT 20, A0 —— 27|
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. ABC ¢ smifaag fags 9w £B= 5wt | AC @ AB digaia $og 925t AACD @ AABE si&ss
a1 26 @A AACD @ AABE #7770 373%1 | A ABE @ A ACD @3 CFasr(ei Sie#ire e S |

.t AABC @3 BC, CA «3k AB 3133 07 3% a,b @ ¢ @k AD 3ft LA @3 7wfadss 23 wta BD
8 DC 37 oy e et |

G TR A e 7o 40 EIft @k 42 G| TR Al g o fefa et |

. ABCDwfacss CD 3z s M oS sercaal BM sises 411 21 9t AC-3 L Rprs =z 3fde AD
& E Reyrs v stz | @i s @ EL = 2BL
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25.

26.
27.

28.

29.

30.

31.

ABCD Gifsfeie, AB||DC @3t DC = 2AB | AB @3 mieaie EF s w21 27 91 AD & F [qre @3

BC 3
BC & E R™e @s=eitd (=27 F0E0E @ EC-a 21 DB 39 EF & G 70e (v I3z | @ 6l @,
7FE =10AB |

A f5cg e wiitg, DEFG &< 39(twa N
g} ZBAC =90° | &9 a1 @, 90°
(i) AAGF ~ADBG  (ii) AAGF ~ AEFC G F
(iii) ADBG ~ AEFC  (iv) DE2=BD x EC
B C
D E

vgge ABCD -9 /B = 90° @z AD? = AB>+ BC?+ CD? | ama a5 @, ZACD = 90°.

991 ABCD-¢, 25 st @

AB?+ BC?+ CD?+ DA?=AC? + BD?.

AABC @3 /B ¢ /C @afades 387 BO @3k CO | AO - 3ffe w3t «ft BC & P Rqes v

JACR | (A (3,
AB AO . AC_AO .. AB_BP
BP - OP ii) CP_ OP iii) AC PO iv) AP =z /BAC @3 e |

ABC &= st fage aiw £C=90°1 P ¢ Q 77 16 w2iwt CA ¢ CB iz @siq wfeers | It @
AT 2: 1 Sriite Ko IR | @™ I @,

(i) 9AQ*=9AC>+4BC> (i) 9BP>=9BC? +4AC?
(i) 9 (AQ? + BP?) = 13AB?

AABC -9, /B @3 fzdes AC & D e v 3@tz | AC @3 seieaie ¢ el AB, DB @
CB @is<its 7290 P, R ¢ Q Rqrs (v 3630 | &9 3! @,

(1) ABxCQ=BC xAP ii) PR x BQ=QR x BP.

ABCD =1 «3(6 ez, a5 AB g P &Ree @3k CD 3z Q Rere @siveiE es 2z @,
AP:PB=3:2492CQ:QD=4:1=z713m PQ , AC- R Ko (= 3¢ O, & I @,

3
AR = ;AC



32. ABC fagtem £C = sn@id @k «a CA ¢ CB 333 GofF safere Sy 120 P g Q 20e, @il el

II.

III.

@, 4 (AQ? + BP?) = 5AB?
Teae
et

1) AAA  2) SSS 3) s 4) 5w 5) e 6) g
7) s 8. 2:1 9. 16:81 10) 5:6 11) 7.5¢M 12) 5.6 ¢

) ¢c 2)b 3)d 4 a 5 b 6)d

7) a 8 d 9) ¢ 10)c ya 12)b

13) b 14d 15 c 16)b 17)a 18) d

19)c¢ 200d 2)a 22)c 23) b 24)c 25 b

1) 4:1 2) 54@R 3) 2.1¢f 4) x=4 5)100° 6) % 7) 5:6 8) 90°
9) 3f 10) 4 11)10V5f 12) 10 13) 13f 14)5f

freta-2

1) 21@R° 2) 25:16 3) # @ 5) 13f 6) 6 7) 7.56

8) 10&fw 11) 80ci
fTea-a

1) 2 3)% 44:5 9) 1:4 10)3.50f 15) r=2cf 20)1:2

21) BD="% pC=-2

bc pre 22 290
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e Sifsife

(COORDINATE GEOMETRY)

& fomm @@ e
w7y fefta 9@ (Distance formula)

1. =g P (xpyl) @R Q (xz,yz) ISR YT =eT \/(xz_x1)2+(y2_yl)2 aee

2. p(x,y) R9oa Tl (S QT (17 + yP G

fAersta 74 (Section formula)
3. POy RmatA (x,y,) 9B (x,,y,) R@ @GS QRIS m, : m, TGAe SEkes 50, 9

mx, +mx, my,+m,y, J

e [ mo+m,  m+m,

X +XxX, oyt |
2 2

4. P(x,y)9RQ (x,,y,) Rege A @i w4y 2= ( ’

fSete@ cvawtea 3@ (Area of a Triangle)
5. P(x,p), Qx,y,) R R (x,,y,) AR RES @ e craze g

1
5‘)61(}’2_)’3)"‘)(2(3’3_y1)+x3(y1_y2)‘a$f“qm|

6. foafe fa scae zema =$iafet (Condition for collinearity of three points) :
i) feab ™M A,B g3z C ameae 2@ I AB+BC=AC =71

A B C
ql
i) o &% (x,p,), (x,,5,) 99 (x,,,) TR == 30 Egejeen fe «ifde fagres crazest <7 = widfie
[xl (.yz_y3)+x2 (y3_y1)+x3 (.yl_yz)]:()
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e+ (2fe 15799)

wife e Teafefes amt

10.

feferfare eiojraa %o Tea @rg e

X o (A (—3,4) Rz rag 2o —

Q)3 b) 3 ¢4 d)S5

A (0,6) @z B (0,-2) Revacas I g 26—

Q)6 b8 o4 d)?2

o1 2 P (—6,8) R g 21—

)8 b)2y7 ¢ 10 d)6

X ST o 9ot @3 iy ietes e sl A (—1,0) @z B (5,0) &% 4f6 (2w st |
a) (0,2) b) (2,0) ¢) (3,0) d) (0.3)

X S0 Bl SRS @3 R gres Wi 3 3R y SCw Sl SafRe S a3t g (il e —4 20,
BRCERCIbEET

a)5 b)6 c)15 d) -5

6 JUE (I G IR 2 Jgaw (7,9) @. (—3,-5) 20, e (Frd RIS 26—
a) 3,5 b) 4,4 ¢ (2,2) d) (2,3)

A (-2, -5) @ B (2,5) s w@iess @@ige (@ [Kvrs o9 Tufadfes of 21—

a) (0,0) b)(0,2) ¢) (2,00 d) (-2,0)

A (-5,6), B (-4,2) @z C (7,5) e fucx a1fos fagrem wis ze1—

a) A fager  b) g fage c) wRAgfage d) R fage

AOBC «=f5 wimrersa wizm foafs Mg =imies A(3,0), O (0,0) @2z B (0,5), siwerstas afs
F ) 2T —

a) 5¢3¢b) 393 ¢) 49 d) f34 =

P (x,3) «== Q (4,5) Repacaa oy 7ag 2V2 G 20T, X F W+ 26
a) 64 b)62 c) 46 d)-62



11.

12.

13.

14.

15.

16.

17.

18.

II.

A (—4,0), B (4,0) a5z C (0,3) @5 fagrem forf M 20 fageio—

a) wragfage b) waigfage c) Rz fage d) e fage

A (2,-5) @2 B (5,2) s wca@ies @i P [Rmre 2.3 sigaiite [Rew 26, P {9 @« A501 ?
a) Ao b) faSmem ¢) wor s d) v ¢im

I G JreT JIEW GL AT [Keg RIS (2,3) G @ R (—2,5) 27, O e AIER S
AT K7 I 2@—

a) (-6,7) b) (6,-7) ¢) (42) d) (5.3)

(7,-6) @ (3,4) R IEes @i @ Reygre 1:2 seeice seiies 27, Gift @i A A 2
a) AAWAmM b) @Ewem c) vOw Am ) ved om

a5 fagrem foat Mz =i A (3,0), B (7,0) @x: C (8,4) 201, @3 (Faest 26—

a) 14 b) 28 ¢)8 d) 6

m A (1,2), B (0,0) «=z C (a,b) 7 foafb sz 23, wta—

a) a=b b) a=2b c¢)2a=b d) a=-b

i A (2,3), B (5,K) @ C (6,7) Regoet s 23, e@—

3 11
a) K=4 b) K=6 c¢) K:_E d) K:Z

(-8.,4), (—6,6) «= (-3,9) Regeen i aifFe faetem cwawret 21—

Q) 2b)1 0 dS5

eyl 776l A :

M (2,-2) @R (—1, x) RMaEe T60 @Y 5 O3 27 O0@ X 97 N 2@——— |
I (4, P) 9=2 (1, 0) e st 79 5 @55 23, @ P qq 9 26 q —— |
(1,0) @3z (2, coth ) Rvara S&y @y ——— |

a
M Q (-6, 5) @R R (-2,3) Rars ARG @RILCR SGRmg R P[E,“]f@m @
A BE ———|

A (-1, y) @2 B (5,7) Read @6 Jred S o[hRie «3k e @@ R O (2, —3y) &7, 9@  y
CER D |




10.

11

I1I.

A L

10.
11.

12.
IV.

I P (k—1, 2) &6 A (3, k) @k B(k, 5) 7@ (it STmaas! 280 ©(F k «F S Zo——

T (a, 0), (0,b) €& (1,1) Rrgejett e =, o é%:_

(0,1), (1,2) @2z (0,2) Regeyen fcx oifoe fagrem sactas w=ies 267 —— |
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T (5,1), (-2, —3) @32 (8, 2m) RFateT 7N 27, O m @F e 26 —— |

T (1,2), (3,4) 3= (0,6) 46 Az foat AR 27, o< oF ved ARG 26 ——

fersferfre emetena Tea wis

0 (0,0), A (6,0) <52 B (0,4) frgsan i oifye fargtem coazeet fefer a1 |

(-2, x) &R (x,—3) Regars 7a0ea 0 1 85 @3 20a, x @7 i el S |

(X, ¥, (%, p,) @R (x,, y,) 21 RS Regejren A 2630 =16 el o |

T A (6,5) 9= B (4, y) Reaa JREes @R 9@ =ires P (5, 6) 29, O3 y @7 31 e 3 |
(0,4), (0,0) &% (3,0) Regeyett fac sifs frgrem sifzstmt e w0t |

(a,b) TS (-3, 4) @32 (3,6) KW@ (AF TV 206 a @R b G Sy 7= 7 1 |

Tft ABCD smisfacsa foaio /i A (1, 2), B (4, 3) «a: C (6, 6) 27, o= Amefzahba vgdf Afm
D fafa st

21
A(6,3) @32 B (-4, 5) Reara FRIes @I (0,?)1%@%%@3%%%@?

(2, -3) @3 (5,6) = FKEAGS @ F SFITS x &% 7171 [eg 27, ©f T 3t |
I A (2, 3), B (4, k) @3z C (6, 2) Reqojtatt e 28 O  k @3 5w foefT ea |

@ G g =it fefr Fat At AAOB @7 foafs | A(2x,0), O (0,0) @z B (0, 2y) =
TS, 2 |

(8,9) @k (—7,4) Revatax FEIE @i (@ e 2:3 Seoiite oo o1 O R 6T S |
afeie SRevtat stey wieal e ferealt

(5,-6) @32 (5,6) RYATE X SF (ATF TIFTS |
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(0,5), (0, -9) @z (3,6) RFgaten =2 |

Fet-2 (2fsl 2799)
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fagsioa Mot =ieres T et |

A ABC ¢ AD 9@ A @k D @ =01 (—1,2) @3k (3,4) 7@ fags ABC 93 SHa@d R
e et |

T P(-3,9), Q (a,b) @ R (4,-5) Ratal a2 @R a+b = 1 W@ a @R b «F N Fefa a1 |
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a b
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(INTRODUCTION TO TRIGONOMETRY)

C
& famm @k @t
® B RS fage ABC -9 @id A -3 farieififes
SIS ST fdiae it zeT:
@ A -9 Koo BC B L1

® /A &I (sine) =sin A= o S— WZA_C

@l A -7 Afifze AB
® /A &I (PR (cosine) = cos A= - S— B AC

@9 A -ax RAfe g _ BC
@l A -9F ARRS AZ AB

® /A @ITwenT (Tangent) = tan A=

1 AC
® /A &3 nt) = A= —=—
@37 FICIHIG (cosecant) = cosec A1 BC
1 AC
® /A« t)=sec A= =—
RIS (secant) = sec A" AB
® /A &I @HITEnT (cot t) = tA—L—&
3 (cotangent) = co and _ BC
® tunA- sin A
an 0sA
cosA
® CcotA=—
sin A




0 [t @b @R farlefiifes sisire fFgres Agotes Meda «ifaste «if7afSe = =1, af @i g
CF |

® @b IR farrefiifes Sreite (rem 2T, Ot @ (Tl w17 faramieliiess sesiroee fef aare i |
® (° 30°,45°, 60° R 90°. @R farpleiies Seoife 7R :

® sin A9 cos A -dF NI | G @ 2 1, WK @A sec A LA cosec A -G e FT | G (5T @Y
AN 21 |

0 o (T PR wgeire T -

sin (90°—A) =cos A cos (90°-A) =sin A
cosec (90° —A) =sec A sec (90°—A) = cosec A
tan (90°—A) = cot A cot (90°-A) =tan A

o farFlelfifes Sreniafer :
Cos’A +sinA =1
1 + tan’A = sec’A
cot’A + 1 = cosec’A



STl - 8
Fett-= (2fef 1 799)

% Tedld qIg2 Fal

sec 30°

cosec 60°

2
) b)73 o) 3 d)1

tan 5° tan 25° tan 30° tan 65° tan 85° =7
1
a) J3 b) N ¢) 1 d) au@ @ aT|

2sin? 63°+1+2sin>27°

3c0s?17" =2+ 3cos’ 73°

3 2
a)z b)§ c)2 d)3
M sec 4A = cosec (A-10°) 2T, @A 4A G FF, ©F LA =2
a) 20° b) 30° c) 40° d) 50°
2tan” 30"sec®52"sin*38"
cosec> 70" —tan” 20’

2 3
a) 2 b)%c)g d)E

M 2 sin 20 = V32, °@ 0 =?
a) 30° b) 45° ¢) 60° d) 90°

(cos0°+sin30°+sin45°) (sin 90° + cos 60° — cos 45°) = ?

5 5 3 7
a)g b)gc)g d)Z

I cosec 0 = V10 2, ©@ sec O = ?

Jo 1L 2
= 970 Y o

a)ﬁb)
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II.

13.

14.

15.

16.

17.
18.

19.

20.
21.

22.

I sin O =

a)

a
It tan O = 5, T

2) a+b
a—b

a

b

b)

3,9 cos O =7

(cosO+sin0)

a—>b b+a

(cos® —sin 0) =?

b—a

d)

a+b ©) b-a

(secA+tan A) (1-sinA)=7?
a) sinA b) cosA c) secA d) cosecA

It cos 9 = sina €32 9o < 90° T, ©(F tan Sor -9F W

1
)5 Vol o

R 2499 99 -

(sin 30° + cos 30°)* — (sin 60° — cos 60°)* @ T ——

b+a

. 1 1
I sin a=3 @2 coS = Eﬁ,Woﬁ-ﬁ -

(sin 45° + cos 45° ) -gq M 27 ——

. 1
W sin A= — ¥, SR cot A=

3fr C sl 7% ABC fage 27, 9@ cos (A+B) aasiq g ———

2

sin (45°+ 6 ) —cos (45°—0) @asq —.

sin O

cosecO

Im 3 tan20-3 =027, @O =——

(1 + tan’0) cos*0 «IT T T ————

(cot2 0-—

sin’ 0

PR
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23.

24.

25.
26.

27.

28.
29.

30.

fferiie emefrena Tea (b * 31 96 AT I ATAEH SACA W6

W= e s tan 45° + 2 cos 60°—sec 60°

4sin©—cos O

M 4tan 0 =3 M, ©@ ———————— G T [T |
48in0+cosO

I tan O+ cot 0 =2 @3 0°< 0 <90° =7, ©@ tan'’0 + cot'’ 0 I IF EF I |

It A+B = 90° 731, o3 tan’A — cot’B g Fo ?

o tand = a asin®—bcosHO
anb = b sk, 9 asin9+bcosﬂé]

I cosA + cos?A = 1 27, O3 sin?A + sin*A -a 3= [T s |

ERICACOEE e

T3 tand = 3 sind =, O sin’0 — Cos>0 -4 T foefar et |

SN SPR— 5sin? 30° + 4cosec’ 60° — tan* 45°
o sin’ 60° + 4 cos’® 60°

1+sin30°
RS R oy

31.
) 2tan A
32, T LA = 45° =, ST orile , sin 24 = ————
l+tan” A
. 1 1
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